



 9 «б» 27.04.2020г. Тема урока  «Повторение. Решение уравнений.»

Карточка - 4
1. [image: hello_html_mf32d160.gif]− [image: hello_html_2860b879.gif]= − 1
1. 4 − 5(3x + 2,5) = 3x + 9,5
1. 2x2 + x = 0
1. 4x2 − 12 = 0
1. 6x2 + x − 1 = 0
1. x(x + 3) = 4
1. (x − 1)(5x + [image: hello_html_m3d4efe4.gif]) = 0
1. [image: hello_html_4234934f.gif]= [image: hello_html_m3bf94547.gif]
Карточка - 5
1. [image: hello_html_33f57c83.gif]= [image: hello_html_5b1c79cd.gif]
1. 5(2 + 1,5x) − 0,5x = 24
1. 4x2 − x = 0
1. 2x2 − 32 = 0
1. 5x2 − 8x + 3 = 0
1. x(2x + 1) = 3x + 4
1. 6(10 − x)(3x + 4) = 0
1. [image: hello_html_m2ed4ce96.gif]= 3
Карточка - 6
1. [image: hello_html_645e7faa.gif]− [image: hello_html_18c684e1.gif]= 3
1. 3(0,5x − 4) + 8,5x = 18
1. 25 − 100x2 = 0
1. 3x2 − 27 = 0
1. 7x2+ 9x + 2 = 0
1. x2 + 2x = 16x − 49
1. 2(5x − 7)(1 + x) = 0
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